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Rabi Shimon; who states, anything which causes money, etc.

Overview

The x7m3 is explaining the ruling of 7" in a case where one stole a 2017 MY and
had it slaughtered that he is liable for the "M '7 payment. Seemingly since the MW
DP0IN is IR OR the thief is not slaughtering the owner’s ox. The & X explains
that in this case it became a 2017 W by a MW and it was stolen (from the W)
and slaughtered. n"2 follows the view of 2py> "1 that the 721 could have returned
this 9po17 MW live to the owner and be freed of any monetary obligation, but now
that the thief slaughtered it, it caused a loss to the "mw (since he cannot return a
dead ox), and n" also follows the view of "3 that "7 wnd 1mn? oM 027,
therefore since by slaughtering it, the thief caused a loss of money to the W
(even though the MW is intrinsically worthless [it is X372 M0OK]), the thief is liable
to pay for the damage he caused to the 9mw.? Our MmdoIn explains the need for the
X713 to say that n"1 agrees with w"A.

mooINn asks:
= (8,7 0P N32) 390N NPT PINTT NIYVT IINMI 2297 9INP NY INNIN) 9INN ON)

And if you will say; but why did not the X773 state that 2'"9 follows his own

view elsewhere, where he implements the ruling of 5293, this is to be found -
= (3,n¥ ow) 519930 HIHVY IV IN 999%2N NNIAN YWTPN 23)

Regarding one who sanctifies his friend’s crops, or he burns his friend’s notes,
so since "7 maintains that °»73 is 27 -

! "1 maintains that if one stole a 727p, for which the w>7pn is liable to replace it (if it is lost or stolen), the thief is

liable for 'm '7, even though that usually one is M5 for damaging w7, nevertheless since by his action, the thief is

causing a loss for the owner (he needs to replace the 12p), it is a 17n% o7 127, therefore he is 2.

2 If »"1 would only agree with >" and not with w"1 the thief would be 715 since he stole a worthless ox, however

since he caused a loss to the W, it is a 1n? 077 727 therefore he is 2n. Similarly, if 2" would only hold like

w", but not like >"1 (meaning that by returning a worthless 27017 W, the 1w did not fulfill his obligation), the

thief would be M, since he caused no loss (for in either case the W could not have returned the 9p017 1w, dead

or alive).

3 773 (causing) refers to indirect damage caused by one’s actions. The examples are given forthwith.

4 The case there is where there was a wall separating a vineyard from a wheat field (in which case both may plant up

to the wall and it is not 0°X?2. If the wall was breached, there is an issue of 2’872 and if the vineyard owner refuses to

rebuild the wall, the grain (and grapes) become w1 (forbidden) and the vineyard owner must pay for the loss of the

grain. This is a case of 73 since the vineyard owner did not damage the grain directly.

3 In this case someone burnt a creditor’s loan document, so now he may not be able to collect his debt. »"1 maintains

that he is liable to pay the amount of the debt, even though all he did was burn a piece of paper; another case of 7.
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Then certainly he will hold liable the one who is causing a loss of money, for

7112 273 is more liable than "»73, as the X713 states there in 237 7o -
= 7RD 19919 199 PRT 90V DAN 619010 19PIYY 9272 NIN YNV 239 MNP NY IND 1Y NnbT

‘Perhaps w''1 only finds one liable (by a 1mn% 2737 727) only by something,
which is intrinsically money, however by burning a note which is not
intrinsically money, ¥"9 would maintain that he is not liable’ —

N150IN answers:
= INM 29 9INP ND INI TY7 NIOIN 2 9199129 NIINT 919D U

And one can say; that it is also possible to say the opposite that there is more

reason to be liable for *»73 than for 171% 0713, for »'"= limited the liability by *»3 -
- 899N HaY MNID PN NINY 19530 NN Y9N IN 19%30 YW M0V 9993 NN

Only by burning his friend’s notes or where he sanctified his friend’s grain,

which is money that is fitting for the whole world -
= 9998 9109Y 1IIVN NTY NIN NN PPN HPDIN 9V DaN

However, by a bpo17 2w it is not fit for anyone except for this watchman in

order to exempt himself from payment, but to the rest of the world the “po11 w is
worthless, so perhaps 7" would not hold him liable based on »73 alone, therefore we have to
come on to ¥"1, who maintains 17 17n3 112% 27 127.

An alternate explanation:
= PYNY 3395 NP7 X0 9INRP 19N DIVNT DIVIN UM

And there are those who explain that it is on account of the following that the
X773 states that " agrees with w''1 -

® This means the case in footnote # 1 where he slaughtered the 1279 (and the same with our case here in the X7n3).
Those are cases of 1n? oM. The damage was something tangible; an animal was killed. However, by burning a
W, only paper was destroyed, not the actual money owed. This is not 1717 07, this is called .
"1t is apparent from that X773 that "3 is not as severe as 1717 3. We can therefore conclude that n", who holds
one liable for "»73 (as opposed to w"3 who may not), will surely hold one liable for 11n% o3 (the case being
discussed here in our X7n3). Why was it necessary for the X713 to say (the reason he is 2 for 'm '7) is because n"
agrees with w"9, this is unnecessary, for n" is stricter than w"9, and is 211 even *»73, so he is certainly 2»nn a 27
Nan? ol
8 Just as the X3 argues (see footnote # 7) that 17mn% 07 127 (destroying a 127p) may be more severe than n73 (like
TNYY A7), we can also argue the reverse that in certain respects the cases of *n73 are more severe than the case of
71mn% o 127 (by a Ypo1 W); the case we are discussing here.
9 In the cases of 73 (either YMIVY AW or 1720 NXIAN WTpn) the item destroyed has a universal value; the loan and
the grain can be sold and used by anyone, however by destroying the 2p031 W it only has value for the "W (he
could have fulfilled his obligation by returning the 2p017 M to its owner) but for everyone else it is worthless.
Therefore, it is possible that »"1 would agree that there is no liability on account of *»7a. That is why it is necessary
to state that we will assume that "1 agrees with w"9 that 7 %3 1317 077 727.
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Because it is @'"2 who maintains that Jm»% 2737 =27 is considered n
regarding the payments of '/m '7 -

= (on,xy DW) NN D 2N YINNY

For it was regarding the payments of 'm '7 that the ruling of w"2 was taught in

729% PD -
= 197 NIN 9957 NP2 2991997 NIOTH RD 9N %39 19N

However, regarding »"7 we do not see that he rules that there is liability by 5293
(for 'm '7, but rather), only regarding paying the principal -

= 1IN RD 7N 77 909wN 119 by BHYH 29nY bax
However, we do not see that "7 maintains that he is liable to pay on account of
173 the payments of '/ '7.

A final distinction:
= 129334990 NON 299019 XY 9907 NI*T DIVNT TUN 12 PHYS 13929 99N T

And additionally says the X''2°9 that on account of the rule of >»92 one is only

liable 323397, but not 707 1 -
1(x,30 ow) 1299190 9102 NIINTD

As is evident in the end of 211277 P95 however, if we maintain *»7 773 %% 0737 727, he
will be liable n"nn.

Summary
We need to say that n"7 agrees with w'"" because, either a) *»73 may be more severe

than 1vn% 071, b) 273 does not pay 'm "7 as 1an% 073 pays, or ¢) »7x is only
132077

10 See the mwn there on 2,7v which states, '™ "7 "1%wn 25Wn ONIR2 220w 2°WTP MR w".
' We need to say that n"1 agrees with w"1 that a 1% 09137 727 (the P03 MW in this case by a W) is "7 1>, for
if we were to depend on *»73 alone we would argue that »»73 can only make you pay the 179, the actual damage that
was caused (by D°X?3 or YR 7W), but not that "»73 is considered that you actually damaged 172m 1%, so you are
liable for 'm "7, therefore we need to say that n"1 agrees with w"1 regarding 77 0717 127 so we understand why he
has to pay 'm '7 by this 5po17 Mw.
12 Therefore, since it is only 132772, it is highly unlikely that the 13127 would make you pay 'm '7 »»17wn.
13 There is a 71a1 N1pn; meaning that if we know that someone stole; however, we are not sure how much, the onan
instituted that the 211 should swear how much was stolen and the 7713 must pay that amount. The X3 in o127
queries whether according to the 7"» that °»737 X°7 X7, is there a 2131 nipn by a 7on (an informer; one who
facilitates giving away the property of a 287w to the government, and is liable to pay as *n73). This would seemingly
prove that *»73 is only 71277 2»n, for if it is n"nn, why should there be a question whether it applies to a 71on; why is
he different from a 171. However, if *»n73 (and the obligation of a Mon paying) is only 71277, then the query is
understood.
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Thinking it over

According to both the second answer (the 2wn9n w°) and the third answer (the
X"2°7), there may not be any 'm '7 *m%wn based on *»737 X17. Which of these two
answers seem more emphatic that there is no '/ '7 »%wn for n7a?
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